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MECHANICAL TEST OF AGGREGATE QUALITY
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50mm 497 100
40mm 497 100
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19mm 497 100
15mm 497 100
13mm 497 100
10mm 497 100
5mm 17. 479 96
2.5mm 49. 430 87
2.0mm 430 87
1.18mm 177. 27 51
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o= AI™ A=AH ()| M eF A= ()| 0.08x S22 %) | H &
1 -1 503.4 490.9 2.48
2 509.3 497.6 2.30 2.39
= A O .
(1] 2% 2 S8 Al
A M- A
O YE= XPpWw O&+8= %100
B+M-C A
A HAZAE AlBo| B2(g) M: EHAZZSIAEL AR &l2kg)
=2 A2 E2tade HH(g) opw: AMYH2Z0Me Eo2E
C:AlEe 28 AX™EM X M S22 2| 2 (g)
o737t _ o 37}
o | S T HA e SAO o L HA |
1 -13|| 523.5 | 698.5 [1020.9| 524.4 | 2.59 -0.003 0.17 0.26
2.58 0.43
-23|| 520.9 | 690.9 |1013.9| 524.5 | 2.58 0.003 0.69 -0.26
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(ko) A& (ko) A& (ko) (kg) (c) | (ka/m) (m*)
1.6900 3.7200 5.3300 [5.3800 |2.0300 | 20.0 998.2 10.0020
O B = AR Y + 21
3.6 - 0.002 = 1,789.88 (kg/m)
3.7 - 0.002 = 1,814.46 (kg/m) HT : 1,802.2 (kg/m)
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1 -1 527.8 524.7 0.587 | 16
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